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Correct Option selected Wrong Option selected or Not Answered Correct Option

Q.No: 1 Kalbelia folk dance is related to which of the following states?

A West Bengal

B Rajasthan

C Madhya Pradesh
D Haryana

Q.No: 2 Ghumar folk dance is related to which of the following states?
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A Rajasthan IR
B Gujarat Tored
G Madhya Pradesh mmr&m - - o
D Haryana giamm
Q.No: 3 In which state is the origin of Krishna river? TN TH T el R fF9 Tq H 2
A Andhra Pradesh Eiiical
B Kerala PR
c Maharashtra TERTY
D Karnataka Frfen
Q.No: 4 Who is the current leader of opposition in Rajya Sabha? AT B IHT # e F o B g2
A Sanjay Singh siwrg R
B Manoj Jha = 7
C P.Chidambaram h.fdem
D Mallikarjun Kharge m @3?‘
| Q.No: 5 What is the Phillips curve related to? fipfery o forad Wi & 2
A Consumption yhing
B Taxation PRI
c Inflation-unemployment TEMS R R
D Import Export 3ymara-foafa

Q.No: 6 Whose autobiography was recently published as Believe- What Life and Cricket Taught Me?

A Suresh Raina

B Virat Kohli

Cc Kapil Dev
|D Sachin Tendulkar

I uy W g § Smufy gof o g R ara: O anufy oo T 9 o W

Q.No: 7 Who among the following rulers established Nalanda University?

A Skanda Gupta
B Samudragupta
C Kumar Gupta I
D Chandragupta-1

Q.No: 8 Which of the following dance is related to the tea tribes of Assam?
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A Garba

B Kalbeliya

C Jhumur Dance
D Kathakali

Q.No: 9 Mt. Kilimanjaro in Africa and Mt. Fujiyama in Japan are examples of which types of mountains?
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A Young Fold Mountains gar afera wda
B Block Mountains iR/ & gdd
C Volcanic Mountains SaTaTgEt uda
D Fold Mountains afm wda
Q.No: 10 Shovana Narayan is a famous exponent of AT AR ¥yt foure® §1
A Kathak Calta
B Kathakali FYFA
c Mohiniyattam Afeergm
D Bharatnatyam WaATedH
Q.No: 11 Select the false statement regarding Kabir. FER F G H T FY BT T B
A He was raised by a Muslim weaver IAFT UTEA-UI90T T ﬁ%ﬁl’g‘ﬁ'_{ﬁﬁ:‘m 1
B He was born of a Brahmin widow I TP ST faear ey g o
c He wanted to transform society though peace and harmony I A R Tegld & ATeHH | TH S FEa 9ed &
D He was a disciple of Bhakti Saint 'Ramanuja’ 5 ufed da ~mger & R 2
I U W g F Jmufy ool o g 1 9ra: Y mufr ool e 9 o W
Q.No: 12 :gztgranr;gnat?action plan was launched by whom on 14 January 1986 with the main objective of pollution 149G 1986ﬁwﬁw$g@mammm1%a$m!§saﬁn§ o
A Rajiv Gandhi ot i
B Arun Jaitley 30T Hedt
C Manmohan Singh e Rig
D Lal Krishna Advani AP rsadt
Q.No: 13 Which of the following statements is not true about 'jizya' tax? g & § F7 1 pu SfomT 29 F IR H FE T 72
A It was for Non- Muslims. g R-gaemr & g o
B In 1560, Akbar ended Jizya 1560 ¥, saR 3 wiorr & wwre &) R
Cc First Jizya was imposed by M d-Bin-Quasim. TEaT STIaT FgTe-faa-F1Rm gRT T9Iar 11 411
D In 1679, Aurangzeb reintroduced Jizya. 1679 ¥, Teia 7 siforar o 5 3 U= fova
Q.No: 14 Who among the following was called “Lustful Idiot” in Mughal empire? FrafifEa ﬁ'ﬁﬁvﬁ'ﬁﬂﬂ g F W'{é EEIRICIRIF
A Farrukhshiyar GEERAR
B Alamgir I 3raHiiR 1
c Jahandar Shah SEleR W
D Aurangzeb Miruccs
Q.No: 15 Which of the following Personalities received the title meaning ‘Ocean of Knowledge? Frafaea 7 I frg wafea o ‘g9 &1 TR B Ul § arsn T 87
A M S Gohlwalkar TH T Tigadaasy
B Jayprakash Narayan SAYDIRT AR
c Ishwar Chandra Bandyopadhyay R I defiurem
D Kapil Dev Eaiccc
Q.No: 16 Which of the following statements is incorrect.; ) FPrafifa & A o @ Sy T 27
A Chhau dance is performed by women only. TS A Haa ﬂ'%?ﬂdﬁi‘m e stran %I
B Gotipua dance is related to Odisha. g T 3ifeRn A walta ¥l
c Dalkhai dance is mainly performed by panied by male TTAEE e GBI ¥ | 730 AhasRt & §ry afgarsi gr1 fear v g1
D Tiger Dance is performed during the Hindu month of Chaitra. g wd & I F <R a1 o R s 21
Q.No: 17 India Post Payments Bank was founded in and it's headquarters are in a1 e Wiiey S@ @ RTT g8 ot IR T geIT #g
A 1 September 2018 and New Delhi 1 Ricer 2018 o 78 Rt
B 1 October 2018 and Gurugram 1 3Jfqgax 2018 SﬁTW
C 1 October 2017 and Noida 1 3fFgaR 2017 aﬁ?ﬁms‘l
D 1 Sep 2017 and i 1 R 2017 3R gag
I Y W qd & omufy oot o o gt B1 or: O Smafy ot e 9t o wdeih
Q.No: 18 Who regulates the Regional Rural Banks? &t ardtor 6t 1 R FF FRar g 2
A NABARD o)
B Reserve Bank of India ford ¥ Elid Eﬁ'ﬂ'l
C State governments I THTE
D Finance Ministry o= viTeT
Q.No: 19 ‘Parakram Diwas’ is celebrated to mark the birth anniversary of which of the following personalities? Fofifea §  fre wffia @t wed @t Rifta 7 & o ' Raw w9 s @2
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Q.No: 27
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Q.No: 28

Subhash Chandra Bose
Rabindranath Tagore
Bhagat Singh

Chandra Shekhar Azad

is the currency that quickly and regularly moves between financial markets.
Hot Money
Soft Money
Hard Money

Token Money

I Y W g F TR ol BT G ¥ 3a: G My ol T Y o wHH
A is a non-depleting energy.
Wind energy
Thermal energy
Water energy

Solar energy

I % W Y F Jrufv gl o o g §1 o g iy oot T @t < W

Boiling of eggs is a change.

Endothermic
Exothermic
Physical change

Chemical change

I 9% W qd H TR gof Y o1 g 1 9a: Y MR ok T Y o W

Anthracite contains carbon.

27-37%
87-97%
80-90%

57-67%

Which among the following belongs to the phyla Bryophyta?
liverwort and mosses

corn and beans

fungi and algae

cones and pines

I vy W g F mufy ool o o g 1 o g Smufy ool TEF 9 o Wl
What is the distance of the sun from the earth?

147.56 million km

150 million km

147.56 billion km

Ran experiences a shaky floor all of a sudden during his guitar classes and decides to measure the
magnitude of the earthquake he experienced. The device which Ron should use is?

Galvanometer
Anemometer
Potentiometer

Richter scale

I uH W U F mufR ool A o gt B1 e g raf ol €t @ o W

Direction: The following question consists of two statements one labeled as “ Assertion” and the other
as “"Reason”.You have to examine these two statements carefully and select the correct answer to the
question from the given options.

Assertion: (A) Ringworm is a fungal disease.

Reason: (R) it is caused by trichophyton and microsporum.
(R) is the correct reason behind the assertion.

only (A) is true

only (R) is true

Both (A) and (R) are correct.

Which one of the following consists of true roots, stems, leaves and seeds that possess seed coats?
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A gymnosperm Foraead
B pteridophyte Aaiwrge
C thallophyte m
D angiosperm TR
IR WY T G F Tl ot o o g 1 o O Sy oot T o o W
Q.No: 29 Ibuprofenis a medicine. Eﬁﬂﬁﬂ TUh__©dl %I
A Antihistaminicos vzé’ri%mﬁﬁﬁa
B Antacid tefs
Cc Antipyretic TERARIS
D Analgesic TATRIE
TReason You have t0 xaming these o takements carauy and scect the orrec answer to the PR 527 2 05 & it 5 1 vy e g% 9 o 5 o T 1. 9 €9 2
question from the given options. el ﬁmﬁqjﬁ S el % R e e et & @ i 1 W SR i %I
Q.No: 30
Assertion (A): Even clear, transparent and odorless water may not always be safe for drinking. ST (A) : 761 7 B A, TR SR g ol ot A A mﬂ?ﬁlﬂ T 8 < 1
Reason(R): Toxic substances such as lead and arsenic contaminate water and result in death. PR (R): e AR srifs a@m o rfh ﬁgﬁmaﬂa % o 3337' TR WB’I St %I
A Both A and R are false. T 3R R Y orwa ¥
B A is true but R is false. Qméﬂﬁﬁlmm%l
c Both A and R are true. TR R I T ¥
D Ais false but R is true. T 3 § AT IR AT )
IF 0¥ W g H ol oot ot o gt 1 o g mufr oo e ot o wdnih
Q.No: 31 is a large area of beautiful land that is protected by the government. O Y 1 UF 591 8 § S R gRIWRA § |
A Forest a1
B Wildlife sanctuary TG ARG
C National park ?T@U CEIES
D Zoo ffdarw
Q.No: 32 Which of the following is not a scalar quantity? frofifea # @ 9 e s R =t &2
A Velocity T
B Distance Fod
C Temperature YA
D Density oTq
Q.No: 33 Which of the following gas is a major air pollutant? Fofifed 7 8 o5 & N wgE g uges 87
A Oxygen SifeiieTT
B Nitrogen AR
C Propane W
D Carbon dioxide BT SIEATFGS
Q.No: 34 The yellow revolution was implemente& to promote awa}eness for what? fia wifd ferads R SrRewar 31 Tgrar &3 ¥ g arg @ d
A Marigold - a1
B Sunflower leaves WoE & o
C Cow dung T T TR
D 0Oil production A IS
Raani exclaimed that she saw a creature that looked like a small snake and also it had a segmented X e o ST T T ot 3 S uw SR Wi B Rg fgar o1 ofR Swet =R 4 wisa
Q.No: 35 body. Which animal did Raani saw in the backyard? I S H B I TR W2
A platyhelminths bcats
B molluscs Arews
c annelids wftg
D nemathelminthes fricdfRrie
Q.No: 36 P and Q are sisters. R and T are brothers. P’s daughter is R’s sister. What is Q’s relation to T? PIRQEEAZIR IR TUR T PHI TR P 557 31 Q &1 T 3 7 Fafy 32
A Sister /@ T
B Aunt ganm/aRf
C Grandmother ardt
D Mother At
Q.No: 37 Choose the correct mirror image of this combination- JKHG8740. U FOA 31 T g0 B T IKHG8740
A OLT2DHUA OLT2DHUA
B ORTZOUAH OkTEOUIH
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Q.No: 38

Q.No: 39

o 0 w >

Q.No: 40

o o0 w >

Q.No: 41

o 0 w »

Q.No: 42

o 0O w >

Q.No: 43

o0 o >

Q.No: 44

U 60 T »

OIIU-T20
OkTZOHAL

Choose the correct mirror image of this combination- CFGK81H.
HIZT3DA
HIZADD1
HI2ADTD
HIZADTO

Rakhi is daughter of Divya, whose husband is the only brother of Rakhi’s father's sister. How is Rakhi
related to Divya’s husband?

Sister
Niece
Daughter

Brother

Select the option that is related to the third word in the same way as the second pair is related to the
first pair.

India : Asia :: Kenya: ?
America

Africa

Australia

Europe

OHAUWT80
OLTZOHAT

9 Wi &1 W) afur 8fd I CFGK81H
HIZTIDA
HI2ADD1
HIZADTD
HIZADTO

et o #t 9 7, Rraet ufy It & Rar 3t w51 1 soheian Wi 91 IR 1 e % Y | /ey @2

qT
Kcie

&
wr§

T fed 1 90 Y ot R ez A S UHR el § S et g uge g 9 el @1
URT : QR A ?

srifeT

YT

sifeRRrar

ki

Select the option that is related to the third word in the same way as the second pair is related to the first Su 1 T B S AR T A I o %@'@T TWF@TTN & %]

pair.

Resistance : ohm :: Energy : ?
Newton

Pascal

Joule

Watt

I Y W qd & TR ol B o1 g 1 9r@: G Moy gof T 9 o |
Select the Lettered pair that has the same relationship as given in the question:
Fish : Aquarium
Child : School
Bee : Apiary
Bird : Nest

Teacher : Hostel

T 0 TR O A ST of A ot 1 o s Srof ook T o o ey

In the following question, a series of letters is given. Some letters have been removed in these series,
and they are in the options given below the series in the same order as they should be. Study the given
series carefully out of the four alternatives given below, and find the one that best fits in place of the
missing letter of the series.

a__ab__bcbc__caca__
bcbc
acba
becchb
bcab

Given question has main statement followed by four statements. Choose the ordered pair of statements,
where the first statement implies the second, and the two statements are logically consistent with the
main statement.

The movie is based on either true event or fictional account
A. The movie was based on true event

B. The movie was not based true event

C. The movie is based on fictional account

D. The movie is not based on fictional account

BD

AB

DA

CA

TRy : S 22 ol : ?

b Ghl
URHT

I SHER Y BT 99 DY ot Ty vy § Ry e wne ey 3 3
EECIRRCato s

& T

wyHTE : AyHfEETE

fufean : siwen

e : sHETEN

Fufelad vy & siedl @ e faw & 1 21 3 saasl § go der el Ru e §, AR 7 guan & A1 Ry e e
B 3 0 A ¥ SR 32 D Ry R BT T TR fwed A ¥ @ T gEen o1 e e wX R JEe & g9
el & WM R 9 fewr @l ot gad Sugw g1l

a ab__bcbc__caca__

becbc
achbha
bcchb
bcab

T Qg v & g e IR TS 91E IR B | Sl 1 it TH T4, el U5 e BT a1 g B €, AR
@ FA A FU Y T T § E@ 21

e 1 @ = U O FIeaS FEE W nid ¥
A. e Tl ve W anuia ot

B. e w=lt we W smeniva e ot

C. frer oot Hert W e §

D. fibe FTeafe Fert W enufa & ¥

BD

AB

DA

CA
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Q.No: 45

o 0 w >

Q.No: 46

o 0w >

Q.No: 47

o 0 w

Q.No: 48

In the following question, a series of letters is given. Some letters have been removed in these series,
and they are in the options given below the series in the same order as they should be. Study the given
series carefully out of the four alternatives given below, and find the one that best fits in place of the
missing letter of the series.

ab__de__gh__jkl__no
cdbm

cfim

abcd

cbab

Select the letter-cluster that can replace the question mark (?) in the following series.
GU, KY, OC, SG, ?

ZK

WK

MK

uy

A's father is B's son. C is the paternal uncle of A and D is the son of A, How is D related to C?
Brother

Cousin

Nephew

Grandson

Navin is the husband of Simar. Naresh is the husband of Kavita. Kavita is the daughter-in -law of Navin,
How Naresh is related to Navin?

Son

Brother-in-law

o 0w »

Q.No: 49

o 0O w >

Q.No: 50

Q.No: 51

U 0w »

Q.No: 52

Father

Brother

Given question has main statement followed by four statements. Choose the ordered pair of statements,
where the first statement implies the second, and the two statements are logically consistent with the
main statement.

A statesman is either candid or confused
A. A statesman is candid

B. A statesman is not candid

C. A statesman is confused

D. A statesman is not confused

BD

DA

AB

AC

Choose the correct mirror image of this combination- FETFBQXFTKL8465125
2fieoke IATIZ.ag1T1d
2L12ok3 1ATIZ 841737
2l1zoke AT d89T3d

2SI Lok IATIZadTIT

Select the Lettered pair that has the same relationship as given in the question:
Shield : Soldier

Helmet : Rider

Law : Court

Stethoscope : Doctor

Book : Reader

Given question has main statement followed by four statements. Choose the ordered pair of statements,
where the first statement implies the second, and the two statements are logically consistent with the
main statement.

The girl is querulous or satisfied
A. The girl is querulous

B. The girl is not querulous

Profifaa vy & 3Rt B U fae & T 1 3 sEened § 59 %R ge Ry €, R & fwen & 9 Ry mu R
30 %0 A ¥ O 3= B eyl A R e R R 3 Q€ T gua 1 wrgdd g B SR O & g
el F VM W TF fawe I S Ta Iugw gl

ab__de__gh__jkl__no

cdbm
cfim
abcd

cbab

iR gee 39 eR-TE S 99 53 W 0y g (?) B wfeid o= g 1
GU, KY, OC, SG, ?

ZK

wK

MK

uy

AT RAB B GIRIC, AT I § 3R D, ATITF 71 D, C & v v Taifi B2
urg

B

e

Lo

T4 RER &1 ofd 31 R Hfyar o1 ufd 81 i, T4 3 g 81 R, 79 3 759 veR J&ha @2

et
El

firar
g

o Tu iy ¥ 381 e IR I IE AR S &1 Sl &1 it T T, ST Ueal U &1 ad g w98, AR
Bl & difhe w9 T HY QT

Ue i A1 wpard) @ Wita @
A, T TS WEard §

B. T ISHdT WEaTEl Fe 3

C. T I ufEa &

D. T e i TE &

BD

DA

AB

Ac

W YASH 1 L) <40 B TH- FETFBBXFTKL8465125
efleote IATIZ. 889113
2C129k2 1ATTZd4T331
eclzte AT aa9Td1

2C12k3 IATTXad 1T

T YR G B TG Y ForaepT Weler vy A g ¢ wHr weiy A B
e : R

T : AR

B ¢ farad

RYNDI ; ST

frama : wow

138 T vy & T B SR SUS 916 UR S | Ul B B TH T, SET Ued U B e g B A g, 3R
3 T AfSe O Y T T T B

TS R 1 WGP §
A, T g &
B. Tge! fomrg TE §
C. Tg®1 §qE &
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C. The girl is satisfied D. TH! TE T ¥

D. The girl is not satisfied

A AC AC
B BD BD
c AB AB
D DA DA

Q.No: 53 A's son B is married to C whose sister D is married to E, who is the brother of B. How is C related to E? A $1Td B, C & fdaifea 8, Rest 9571 D, E 9 faarfea &, < B &1 41 1 ¢, E I 75w vooR eifda &2

A Daughter F
B Cousin Hfor
C Sister Erat
D Sister-in-law mft
| Q.No: 54 Choose the correct mirror image of this combination- BCGH. Ex e @t E@H‘fw B ?ﬁ- BCGH
A 8H9) 8HP)
B 80HD 80Ho
c 080H 080H
D HD28 Ho28

I UY W g & maf ool B S g §1 3 T ARy gof T B o |t
Select the correct mirror of the given figure when the mirror is placed on the right of the figure. & STy T LT UV B BT T X T UV Y B B A SR RAfrer far o g

Q.No: 55

> > [>[>
> [>[>[>

Q.No: 56 What will be the compound interest on Rs.9150 in two years when rate of interest is 2% per annum? g aul # 9150 ¥98 W ﬂﬁ@&'ﬂﬁ T T o A W 2% uferaf %7

A Rs.369.66 Rs.369.66
B Rs.340.35 Rs.340.35
C Rs.179.30 Rs.179.30
D Rs.414.187 Rs.414.187
5% people of a village in Sri Lanka died by bombardment, 15% of the remainder left the village on AT & TF Tiia F 5% AT THIR ¥ TR W, 9 At F 15% ﬁa?m’ﬁﬁ?ﬁgﬁtﬂl T 3T T TeHR
Q-No: 57 account of fear. If now the population is reduced to 3553, how much was it in the beginning? 3553 ¥g Tt § df URA B e A
A 3800 3800
B 4200 L A 4200
[ 4400 4400
D 5500 5500

The cost price of 51 oranges is equal to the selling price of 34 oranges. What is the percentage of profit

QNo:58 oo 51 Gl &1 4 G 34 Gl & Ay 4ed & SO 3| A1 a1 g1l &1 v am @2
A 50% profit 50% Y
B 33.33% profit 33.33% MH
(e] 50% loss 50% IT
D 33.33% loss 33.33% T
What will come in place of question mark (?) in the following expression? RrafaRa et 7 v fes (?) 3 T 9 F41 HTT?
Q.No: 59 2
2328 -43 X 57 + 18“ =? - 72% of 725 2328-43 X 57 + 182 =? =725 H172%
A 725 725
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Id Y W qd F Smuf ot Y 1 gt 1 31 T: SMURY ot e A o wHt|

A dozen of pair of gloves quoted at Rs 240 are available at discount of 25%. How many pairs of gloves

QNo: 60 . bought for Rs 9007 240 T @ o SIS TN 25% Bt P W U@ T @ 900 TR F T R St T Wi o o §2
A 2 pair 2 St
B 3 pair 3wt
[+ 4 pair 45
D 6 pair 6 St
A sum of Rs. 400 amounts to Rs. 441 in 2 yr at compound interest. If the interest rate is increased by 5  Tehals S @1 X J 2 76l & 400 I0 Bt IR 441 373 1 el B1 4 =t X 9 5 whaa (g wgr Rz o, @t @@
Q.No: 61 percentage points, what will be the amount? RIERETC E‘T E1Lied
A Rs. 560 560 T
B Rs. 484 484 T0
C Rs. 512 51230
D Rs. 600 600 39
Ramesh spends Rs. 11,000 on Diwali shopping. And takes a mobile phone of Rs. 26,070 and the T TG 11,000 Fareht TRl W w Sl €1 3R FUd 26,070 BT WeTEE B ddl € AR AY 45% U 7€ U7
Q-No: 62 remaining 45% of rupees he keeps cash with him. So how much money did he have in total? U 3T B 3% U 5 et wud 4 2
A Rs 68,350 68,350 T
B Rs 67,400 67,400 FUd
c Rs 68,000 68,000 FUd
D Rs 57,500 57,500 T
Q.No: 63 Whatis the new numberif increase the number 400 by 10%? T 400H 1oe-gaﬁq@aﬂﬁu?q'{mw?{?
A 440 440
B 460 460
C 540 540
D 360 360
Cost price of an article is Rs 5,000. After selling it to B, A incurred a loss of Rs 500. Find the percentage U a%] &1 %4 T4 5,000 ¥93 §1 5 B & 97 & a1, A F 500 T &1 71 g5
Q.No: 64 of loss and the price at which B bought that article from A. 1Y &7 Ul = &ﬁwwr@?ﬁrwmmm B?{wwaﬁ;\@@ﬂm
A 10%, Rs 4,500 10%, 4,500 T
B 10%, Rs 5,500 10%, 5,500 ¥4
C 20%, Rs 4,000 4 h ' 20%, 4,000 T9Y
D 20%, Rs 6,000 20%, 6,000 0
T v W d  3mufy ot @t o gt 31 3 g Smufy ot T @ o wandt
Q.No: 65 Manali lent some amount to Shalu at a certain rate of compound interest. .Interest at the end of 2years ¥R 3 T &Y ﬂﬂ‘?m ot W fifta R R Fo IR IUR & )
| and 3 years was Rs. 945 and Rs. 1521 respectively. What was the rate of interest? 2 a9 3R 3 af & 3id F < HAW: 945 TUY 3R 1521 TGA V| < & J1d BY2
A 16.67% . 4 16.67%
B 12.50% 12.50%
C 20.00% 20.00%
D 14.29% 14.29%

The average of 39 numbers is 17 . Each number is multiplied by 12 and then 16 is added to each number.

Q.No: 66 At last, each number thus formed is divided by 11 . What is the average of new set of numbers thus s2 ot =1 17 31 12 ﬁwmm% A A 16 SllgT o &1 o,

YHR Tidd YAS e Bl 11 A R fbar s 31 59 YeR 3 Wensll & U wigey o1 3N 591 g

formed?
A 50 50
B 40 40
c 20 20
D 30 30
Q.No: 67 What will be the loss percentage, if apple purchased 6 for Rs. 80 and sold 4 for Rs. 46? B vfera 0 %, i 80 T F 6 ¥ R MY ¥ OR T 46 T H 4 9 I R F IR0 F?
A 12.5% 12.5%
B 9.30% 9.30%
[ 13.75% 13.75%
D 13.50% 13.50%
Simple interest earned on 12600 Rs. at the end of 3 years is Rs. 1890, What will be Compound interest 3 i & 3fd ¥ 12600 ¥00 W el WUR ST 1890 T 1
Q.No: 68 on same amount at same rate in 2 years? t 2 99 F T & W T A R el gl S T g
A 1986.075 Rs. 1986.075 I9%
B 1260 Rs. 1260 T9Y

Page- 8



(¢ 1845 Rs. 1845 ¥4
D 1291.5 Rs. 1291,5 ¥0%

Ram needs 75 Rs on average for food every day. If he has 450 rupees with him , how long will it last I B e Wi ¥ R siaeT 75 70 S rawadal a1 ¢l O 9% U 450 I £, @ 96 s e 7

QNo: 69 pinny a3
A 4 days afE
B 8 days 8 fe
C 2 days 2f
D 6 days 6
Q.No: 70 A man gains a profit of Rs.68 after selling an item for Rs.850. Find the cost price of the item. Q?saqa% 850 ¥ 7 ¥4 W U e B 68 TG 1 @0 §iar B G 1 Y& T S|
A Rs.782 782 ¥
B Rs.521 521 ¥
c Rs.596 596 ¥UQ
D Rs.683 683 ¥
I 9 W qd § MUl aof B o gH 21 3 T SMURY gof 781 B 1 Wbt
In the question given below, some statements are given followed by few conclusions. You have to A fouw Ty oy, PO HUT 4R IEH mﬁﬁ@ﬂc%‘lﬂ‘l?l T YT B TG AFAT 8, W € T THIE: I
consider the statements to be true even they seem to be at variance from commonly known facts. You et & firar it 8t €11 omues) o a0 & @ 5 o e et & & o619, afe 1 €1, fw g ol 1 argemer
have to decide which of the given conclusions, if any follow from the given statements. HAT B
Statements: FYA:
All Greeks are Romans, Tt R e E
Q.No: 71 Some Romans are Tandas. F v = B
Some Gangus are Tandas. F T < B
Conclusions: Foread:
I. Some Romans are Tandas. L9 e et gl
1I. All Greeks are Gangus. 11 9 A T E
A either conclusion I or II follows a1 &t ey 147 1T SRR aT
B both conclusion I and II follow ey 1 iR 11 3T Gﬁmmﬁ K
C only conclusions II follows Faa Freed 11 SRR T %
D only conclusion I follows Faer Freed 1 SrgeRY BT @

Select the option that is related to the third term in the same way as the second term
is related to the first term.

R veR 2 R Tw eieRT F Ty A GO ek TE Ug S1eR TE I I 3, S weR AR sieR g 3 T e &1 95w #fm)
MUSCLE : SUMLEC :: OUTPUT :

Q.No: 72
MUSCLE : SUMLEC :: OUTPUT :

A UTOPUT UTOPUT
B PUTOUT ~ putout
c TOUTUP TOUTUP
D TUOUTP TUOUTP
Which of the following will come in the place of question mark? Frofifea # ¥ w wyae fore & WM W ST ?
Q:flo; 73 a_ca_b_aa_ca a_ca_b_aa_ca
A abba y R abba
B bacb bacb
[} baaa baaa
D acba acba
I wY W qd F Smafy gof B o g 1 3ra: G iy ool e Y o wH|
Q.No: 74 Ina row of 50 students, A is 27 from right end. Then find rank of A from left end. B P 0 Ufe F A T BR 273 A W A A BR F A B ¥ 79 SI0?
A 24 24
B 21 21
C 23 23
D 22 22
Q.No: 75 If 'STAGE' is coded as 'TUBHF’, 'STRANGER' will be coded as'____'. T 'STAGE' &1 BT BT ‘TUBHF, 'STRANGER' ST e & '___".
A TUBSOHFS TUBSOHFS
B TUSBOHFS TUSBOHFS
C TUBOFSHS TUBOFSHS
D TUSOBHFS TUSOBHFS
O Il} arow X is 172 from left end & 19% from right end. Then find the total number of students in the Wuﬁiﬂ, X aﬁa’n% 174t 3R mwa 193 81
given row? @ ¢ ufd F frenfe o oo dem I Ffme
A 30 30
B 35 35
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Q.No: 77

o 0O w >

Q.No: 78

o 0o w >

Q.No: 79

o6 o >

Q.No: 80

o 0o W >

Q.No: 81

o o0 o

Q.No: 82

o 0O W >

Q.No: 83

33
31

Find the missing term.

17
169 289
2197 ?

3375
5832
1728
4913

In the question, assuming the given statements to be true, find which of the two conclusions [ and IT
given below them is/are followed.

Statements:

L All fans are A.C.

II. Some T.V. are A.C.
III. Some laptops are T.V.
Conclusions:

L All fans are TV.

IL. All laptops are fans.

Only conclusion II follows

Neither 1 I nor II

Either 1 Ior II

Only conclusion I follows

If POSTER is coded as 592314 and DARK is coded as 8647, then how will STROKE be coded
as?

324917 324917
234917 234917
234971 234971
493287 493287

Find the missing term.

2|5 |10
126 |72
1517 |2
65
28
105
36

If AN = 14 and CAT = 60, then BEG = ?
70

74

168

72

Which of the following will come in the place of question mark?
cab-a-c-bc-bc-b-ab

bebbbe

bcbbab

acacab

cbaaac

During prayer students are standing in line. Salman position is 22nd from both the girls who are
standing at both the extreme end of line. How many students are there in the line?

52
46
43

33
31

3375
5832
1728
4913

vy F, T T8 U B GG HF §Y, T S 6 I 9 g g &) Freed 18R 11 & A BiH-E1 3R @ 1
P

1w G UL R

I 5% a8, T §

111, & el ., €

ﬁﬁﬁ:

1wt ol A R

11 it dety Ud R

Faa freed 11 srgaver s @

At fred 1 71 € e 11 rgeRY e §
a1 e 1 e 11 SR UT BRar ©
Faa e 1 SrgeRer T @

4f2 POSTER ) 592314 3 T 7 91K DARK F1 8647 % w0 § gews far 9dr ¥ & STROKE & frd w9 & geag gt s

@ U 1 Hiforal
2 5 |10
12|16 | 72
1517 |?
65
28
105
36

TfE AN = 14 3R CAT = 60, @ BEG = ?
70

74

168

72

Faffea & & wars g & = ) o ?
cab-a-c-bc-bc-b-ab

bebbbe

bcbbab

acacab

cbaaac

T % ERH B UF Sar 3 TS 2 €1 YauH @1 IR 3 O asfeal @ 224 § o ufdd & G 3R R ad 71
ufeT 7 e o 82

52

a6

a3
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o vy W gd F Sy ot ot g 31 o T omafy gf T ot o wdn

Q.No: 84 R, G, S _and T are friend. R is taller than S. S is taller than G who is smallest in the group. T is taller than R, G, S SRTREE R, sqFMA S, GAIMESR ¥y B B T, s &1 99 o Tad T B B
S. Who is the tallest among all of them? 1

A S s
B G G
C T T
D R R
Find the missing term. T U F1d ol
182 14 182 14
Q.No: 85 187 | 11 187 | 11
17 215 ? 209 17 215 2 209
A 12 12
B 16 16
c 15 15
D 13 13
What will come in place of the question mark in the following question? ol vy 8§ vy g & ®IF w1 smem?
Q.No: 86 . , , h
(18)*3 + (27)>5 x 635 =27 (18)23 £ (27)25 x 635 =27
A 6 6
B 7 7
C 4.5 4.5
D 3.5 3.5
Q.No: 87 Present age of Rahul is 5 years less than Ritu’s present age. If 3 years ago Ritu’s age was X, : ;? 3 admE aﬂ'q%i}gaﬁ a1 ¥ 5 99 FA 21 3 3 a9 gd Rg I 3 x A, & g F I wga It
S which of the following represents Rahul’s present age? 3y B A g2
A X+ 3 X+ 3
B X=2 X =2
o} X=-3+8 X-3+8
D x+3+8 x+3+8
I W Wy & rafy 7o & S gt B1 o U amufy ot e 9t o wanth
Q.No: 88 Which of the following is divisible by 10 but not by 207 Pl # 3 F9 10 F furea @ 3 20 T
A 45980 45980
B 98760 98760
[ 26890 26890
/D 35762 35762
Q.No: 89 The sum of two number is PQ and their difference is 7 of their sum. Find their HCF. < gl Sa PQ% 3R TP R I lf’mm;%l IS H.CF.Jd B
5 b 6y
A 7he 7'¢
1 1
=P =P
B ohe e
1 1
C ;PQ ;"'Q
7 7
Zp Zp
D A Q 3 Q

92x18%) | 92x18*
Q.No: 90 The value of( Sie ) : ( peran) EULIE RS
32 32
A 243 243
16 16
B 81 81
4 &
c 5 9
D 2 3
2 2

Page- 11



Q.No: 91 What is the area of a circle whose circumference is 88 cm? TF T4 BT &0 1 § forwet ufkfy 88 ¥ft 2

A 430 sq cm 430 of I
B 732sqcm 732 oif &ft
c 616 sq cm 616 Tl af
D 928 sq cm 928 Tif {f
Solve for x. x & e 50 S|
Q.No: 92
3(x +4) +8=05x 3(x +4) + 8 =5x
A 6 6
B 10 10
c 5 5
D 9 9
Q.No: 93 Find the smallest fraction of the following fractions? Frafafea el § ¥ vad 21 e I Sife-
A 34 34
55 55
B - L

=
"
-

N
w
[N}
w

c 3 Er
2 2
D 19 19
What value would come in place of the question mark (?) in the following equation? Trafaf@a geieor I wyars % (2) & M W @ uF g
Q.No: 94 2 2 2 2
(42)—(38)2—(17)?=?+0.1 (42)2—(38)2— (17)?=2+0.1

A 6.1 6.1
B 4.1 a.1

c 3.1 3.1

D 5.1 5.1

Q.No: 95 The area of right- angled triangle is 3.6 sq.cm and the base is 1.2 cm, find the height? THS By BT dA6d 3.6 T Fft § ok aMuR 1.2 It §, SO T By
A 0.6 0.6

B 6 6

c 1.6 1.6

D 4 a

Q.No: 96 The HCF and LCM of two numbers are 13 and 715, respectively. How many such pairs are possible? < Tl & a0 IR Te. WO HA: 13 SR 715 §1 T fead gm e €2
A 4 a

B 1 1

c 3 3

D 2 2

Qu.No: 97 Three bells toll at interval of 9, 12 and 15 min respectively. All the three begin to toll at 8 am, At what ~ I¥RE: 9, 12 3R 15 e & SfarTe TR o7 Uy swicht &1 il YTg 8 o SoFT & Hat g1 o v Wy d ugeft ar

-NO: 97 time will they first toll together again. % Y R o s

A 10:30 am % 10:30 9

B 8:45 am 4T 8:45 T

c 11:00 am 9 11:00 T

D 1:30 pm <ITER 1:30 T

Q.No: 98 Check which number is divisible by 9 if value at x=2 and y=1? Tf2 x=2 AR y=1 A B H FEno IR :

A 3x3331 3x3y31

B 7y36x5 7336x5

c 63x32y 63x32y

b 5x4360 5x4y60

Q.No: 99 Which of the following is divisible by 5 but not by 4? Fofafed § § #1159 faurss & e 4 9 78

A 438900 438900

B 678665 678665

c 459754 459754

D 336840 336840
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Q.No: 100

o 0 w >

At present, the age of a father is five years more than thrice his son’s age. Fifteen years hence, the

T F, T e BT g 3w g 3 g & &9 R @ vig o o 1 Usg o s, e @ org 39 wHg oA @

father’s age will be twice his son’s age at that time. Find the present age of the san. (in years) @t Y Edf ?ﬂ{l’-ﬁ Bl g ot gdA 3 I aﬁﬁﬂll(iﬁﬁ)
10 10

25 25

20 © MPESB. All rights resefld

15

15
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